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b
Write in the same way as in example a).
a) 8.9 cm = 8 cm 9 mm = 89 mm b) 48.64 km = 48 km 640 m = 48640 m
¢) 9.6 cm =9 cm 6 mm = 96 mm d) 7.5 cm =7 cm 5 mm = 75 mm
e) 1.8 dm =1dm 8 cm = 18 cm f) 7.6 cm = 7 cm 6 mm = 76 mm
g) 105.1 m = 105 m 1 dm = 1051 dm h) 68.36 km = 68 km 360 m = 68360 m
i) 8.1 cm =8 cm 1 mm = 81 mm j)1.9dm =1dm 9 cm = 19 cm
2)

Write in the same way as in example a).

a) 991.97 kg = 991 kg 970 g = 991970 g
¢) 507.53 kg = 507 kg 530 g = 507530 g

b) 90.54 t = 90 t 540 kg = 90540 kg
d) 92.02 t = 92 t 20 kg = 92020 kg

e) 76.31 t = 76 t 310 kg = 76310 kg f) 166.82 kg = 166 kg 820 g = 166820 g
g) 847t = 8 t 470 kg = 8470 kg h) 33.74 t = 33 t 740 kg = 33740 kg

i) 18.22 t = 18 t 220 kg = 18220 kg i) 808.01 kg = 808 kg 10 g = 808010 g
3)

Write in the same way as in example a).

a) 75.83 Euro = 75 Euro 83 Cent = 7583 Cent
b) 34.67 Euro = 34 Euro 67 Cent = 3467 Cent
¢) 93.68 Euro = 93 Euro 68 Cent = 9368 Cent
d) 68.23 Euro = 68 Euro 23 Cent = 6823 Cent
e) 46.35 Euro = 46 Euro 35 Cent = 4635 Cent
f) 82.6 Euro = 82 Euro 60 Cent = 8260 Cent
g) 24.74 Euro = 24 Euro 74 Cent = 2474 Cent
h) 2.48 Euro = 2 Euro 48 Cent = 248 Cent

i) 38.1 Euro = 38 Euro 10 Cent = 3810 Cent
j) 72.04 Euro = 72 Euro 4 Cent = 7204 Cent
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Write in the same way as in example a).

b) 12.45 km? = 12 km? 45 ha = 1245 ha

¢) 65.64 cm? = 65 cm? 64 mm? = 6564 mm?

d) 96.52 a = 96 a 52 m? = 9652 m? €) 46.36 a = 46 a 36 m”> = 4636 m?
f) 96.87 a = 96 a 87 m? = 9687 m? g) 50.82 ha = 50 ha 82 a = 5082 a
h) 73.44 dm? = 73 dm? 44 cm? = 7344 cm?

i) 1.54 m? = 1 m? 54 dm? = 154 dm?

j) 34.24 cm? = 34 cm? 24 mm? = 3424 mm?

a) 26.14 m? = 26 m? 14 dm? = 2614 dm?
)

Good Luck!
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